Algebra Formulas: Linear Equations and Triangles
Linear equations

ax + by = c

Standard form of a linear equation: a times x plus b times y equals c, where a, b and c are constants.

y = mx + b

Slope-intercept form of a linear equation: y equals m times x plus b, where m is the slope of the line and b is the y-intercept.

slope m = rise/run = (y
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The slope, m, equals the quantity, second y minus first y,  divided by the quantity, second x minus first x.

y - y
[image: image5.wmf]1

 = m(x - x
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Point-slope form of a linear equation; used to complete the equation when you know the slope and a given point (x
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, y
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).  y minus the known y
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 equals the slope m times the quantity x minus the known x
[image: image10.wmf]1

.
Triangles: Pythagorean Theorem
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The square of the hypotenuse (the longest side of a right triangle, c) equals the sum of the squares of the other two sides (a and b).
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